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JeviEE 1 [FRR294E11H10H | 13:40) % 5K =3 8.8 6.8 — 8|IKTE 4 — —163] 15 —| 92 12 — 37
BN 5 AKRE GiFRT) 1 |FERk294FE10A 16 H | 12:30]18 ¥ J7 =K i 13.2] 10.9 —| >30[Ef — —170[ 16 —| 9.1 6 — 13
RN EAR N KA (GETEAT) 1 | 'FRk294E9H 26 H 9:30 )3 i 7 A 3 16.3] 16.6 —| <30[#Efn — —1 7.5 22 —| 95 19 — 7.7
1 [ Fk29%E9A 11H | 10:45)m % 7 X fif 19.5] 19.5] 3.5 —lEo — —[ 8.0 - 17] 95 6 — —
FE W 1 |'FRk29fFE126H [ 13:10 [Y)) -14] 53 —| >30]- — —[ 8.1 — 1.7 14/ 9.0 — —
BRI (G 1 [FRk294E10H4H | 10:20]m % 55 X =3 15.0] 14.2 —| >30[kktEE - K 1.9 5 72| <05 2.6 11 1 4 7.1
B B Bk 1 |FRk294E10A 31 H | 13:30]i8 % J7 =K i 15.1] 13.1 — 36[H A - B 16| & 7.0, 13| 4.0 10 21 — 11
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IR FIARJIA O 2% 60 KAF (bifii) 1 [FRR29%E11H17H | 10:17]8 % 55 X i 14.9] 13.0 —|  >50[#E®E — | fE B 771 0.6 32| 96 1.6 — 540
HEA B 1 |FRk294FE10 A 18 H [ 11:10]i % J7 =K i 17.0] 16.0 —| 100<|#E {7 0.65 | fE 5L 74| 07 22 11 3 — 19
FERG IR 1 |FRR294FE10A S5 H [ 10:20]1 5 J7 =K i 17.5] 16.5 —|  >50[#Efn — —|77] 14 29/ 98 6 24 —
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FRb B [Tk 1 [ Fk29%E11H8H 9:30]3 i 5 =X FR 18.5] 20.8] 4.5 —|fE — [ R | 8.3 —| 1.8 84 7 — 4,700
Rl (EHET) 1 [FRk29%E10H5H | 10:55) @ 5k 20 20.6] 19.8 —| >30[#Ef — |5 73] 03] 18] 98 7 — 12
Yifg) I R fE (M) 1 [ "FRk29%E10H5H 9:50|i i 5 =X 'y 19.7] 193 —| >30[EE — | fE R 7.1] 04| 29/ 33 4 — 63
J5) 1)1 48 (Edah) 1 [FRk29%E10H5H | 10:00]8 % 5 =X =3 20.6] 19.6 —|  >30(%tEtn — |5 7.0, 14 11 73 4 — 88
FHRIR |4 R A S 1 [FFRk29%E11 13 H | 12:35]8% 5 Y)) 15.7] 183] 2.8 Frt - i 0.4|4E R 8.1 —| 28] 53 2 — 4,200
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SR SRR VR 1 [ FRk29%FE10H 11 H [ 10:27] % 7= [Y)) 25.4] 255 5.1 — [kt — —[8.2 —| 20 72| 58 4
HE)IEWE (Jeo D) 1 |'FRk294E10 A 10H | 11:30]i % J7 =K ii§ 20.4| 22.4 —| >30[;ZH — | fE R 8.9 — 1.8] 8.0[ 2.0 12
LN SE P KA (B[] 1) 1 [FRk294E1031 H | 10:15]m 5 5K fiff 41 14.2] 14.8 —| >30[:&H — |5 8.9 - 21 93] < 12
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KFE R
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5 -
ek L 1 FRR29FELTATH [ 12:56]0 % J7 2 =Y 21.7) 18.0] 1.2 — |Hifk — | fE B 7.0 <05 16| 84 7 5,400 1,500
okl FEERE OREEX) 1 FRR294ELIIATH [ 11:04|18 % J7 =K =Y 21.2 21.0] 4.0 — |Fkta — |45 770 1.0/ 15| 6.6 2 23,000 4,500
HHEINEEIE (FHET) 1 |FRR294E11A 13 H [ 12:50] % J7 =K i 22.0] 15.8 — 80[EE bk fa — | fE 5 7.0, 09 09 10 3 3 10
RPINHESAG  CRak L i) 1 |FRR294FE11A 13 H [ 10:20]18 5 J7 =K i 19.0] 14.9 —| 100[#Efn — | fE 5 72| 31| 65 8.1 1 190 78
i (LB K 1 |FRk294FE10 A 31 H [ 10:15] % J7 =K i 18.8] 19.5] 23 — |fkfa - B 2 |fE 5L 8.0 —| 21| 68 2 16,000 5,800
T o WR 5 2 AR ([ 111 7H7) 1 [F20fE11 A8 H [ 10:30[ % =k Yy 16.0] 15.2 — | >30[#kk - R 5| fE 5 74 19| 44| 88 5 13 20
I 1 FRR294E10ASH  [10:56| 2T > L A7 Y IR 22.0{ 23.0] 5.5 — | Hfkfa 3.4\ MR 8.2 —| 22] 62[ 32 — —
A 1 [FFRrk29FE11A10H [10:17[AF v L 27V iEh 15.0] 20.0] 9.5 — | Hkf 0.9 R 8.4 —| 13] 76 14 — —
FINR @k 1 [FEk294E10H4H 8:55 (i S =X R 4L 20.5] 212 05 — [kt 3S5|HEA | 7.8 —| 45| 71 5 9,400 —
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TR | ERR 1 R0 E1TA6H | 10:23]H J7 =K i 21.0{ 19.5| 2.0 — |WE ik - 1B [2.66N| k5L 8.0 — 1.9] 7.0 48 — 4,400
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fE i | RAEE 1 |"ERk294E10 A 24 H | 11:00|18 5 J7 = i 21.0( 204| 1.7 — 54|05 8.1 — 12| 68 10 16,000 4,100
FnAG R Gk &) 1 [FRE294E10H30H | 11:40]|8 % J5 =X 2YnbH| 183] 175 145 7.9| 4 5L 73] 32| 7.1 78 12 58 26
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LI TR 1 | ER29E10A 170 | 9:25] % = =) 18.4[ 21.3] 3.0 — | e % B — |45 7.8 —| 26] 6.0 2 — 4,300
L. A 1 |FRk294E10A31H | 8:57|i % J7 =k i 17.6] 19.1] 2.0 — | HikEE - R — |fE 5L 8.1 —| 24| 85 3 18,000 4,700
FEEE | EE 1 PFpR29FE1TALTH [ 10:30] % J7 =K i 16.5 17.8] 2.8 — |kt — |5 8.3 —| 29] 64 4 19,000 4,200
REARI [\ R4 o 1 |'FR294E10H 5 H 7:50 3@ & 7 A e 21.4| 22.6] 10.7 — |k 0.8[fE 5L 8.2 — 1.5 6.8 1 — 4,700
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ElEER RO EBN AR R 1 [FRR29%E11H10H | 11:00]8 % 55 =X 0 21.5] 18.1 —| 50 [fEf 1.3[ME 5 751 09 12 11 <1 10 21
Kig) I A (e IR ) 1 |FA29FE10H4H [ 10:37)i@ % 7K 4 24.5] 22.2 —| 50 |[#Efn 5.1 |45 7.5] <05 1.1] 82 25 1,300 460
PRI RIS (B EJERT) 1 [FRR29%E10H2H 9:43 |1 i 5 X fiE 29.5] 29.0 — HET RS 55.5[ MR 8.0 17 - 11] 264 — 2,100




